

Page 1 of 15

Contract ID: 23139 Counties: SALEM

Letting Date: September 19, 2023 District(s): S1

Call Order: 139 **Project(s):** 0040320

Contract Time: 11/18/24 COMPLETION DATE Min: Max:

	o / Item ID escription		(1) SOUTH STATE, INC.		(2) EARLE ASPHALT COMPANY			
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 ROADWAY			Cat Al	t Set:	Cat A	It Member:		
0001	151006M	1.000	10,000.00000	10,000.00	6,500.00000	6,500.00		
PERFORI PAYMEN	MANCE BOND AND T BOND	DOLL						
0003	153003P	(1)	1,000.00000	1,000.00	4,000.00000	4,000.00		
PROGRE	SS SCHEDULE	LS						
0004	153005M	4.000	200.00000	800.00	300.00000	1,200.00		
PROGRE	SS SCHEDULE UPD	ATE U						
0005	154003P	(1)	300,000.00000	300,000.00	260,641.45000	260,641.45		
MOBILIZA	ATION	LS						
8000	157004M	1.000	1.00000	1.00	2,000.00000	2,000.00		
CONSTR	UCTION LAYOUT	DOLL						



Page 2 of 15

Contract ID: 23139 Counties: SALEM

Letting Date: September 19, 2023 District(s): S1

Call Order: 139 **Project(s):** 0040320

Contract Time: 11/18/24 COMPLETION DATE Min: Max:

	o / Item ID escription		(1) SOUTH STATE, INC.		(2) EARLE ASPHALT COMPANY			
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 ROADWAY		ROADWAY	Cat Alt Set:		Cat Alt Member:			
0009	158009M	900.000	0.01000	9.00	2.50000	2,250.00		
HEAVY D ORANGE	UTY SILT FENCE,	LF						
0013	159003M	350.000	0.01000	3.50	0.01000	3.50		
BREAKA	WAY BARRICADE	U						
0014	159006M	350.000	0.01000	3.50	0.01000	3.50		
DRUM		U						
0015	159009M	350.000	0.01000	3.50	0.01000	3.50		
TRAFFIC	CONE	U						
0016	159012M	2,003.000	0.01000	20.03	0.01000	20.03		
CONSTR	UCTION SIGNS	SF						



Page 3 of 15

Contract ID: 23139 Counties: SALEM

Letting Date: September 19, 2023 District(s): S1

Call Order: 139 **Project(s):** 0040320

Contract Time: 11/18/24 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) SOUTH STATE, INC.		(2) EARLE ASPHALT COMPANY			
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0001	ROADWAY		Cat Alt	Set:	Cat A	It Member:	
0017	159015M	2.000	900.00000	1,800.00	2,000.00000	4,000.00		
CONSTR SIGN, 4')	UCTION IDENTIFICA X 8'	TION U						
0018	159027M	4.000	10.00000	40.00	0.01000	0.04		
ARROW I	BOARD, 4' X 8'	U						
0019	159030M	4.000	2,000.00000	8,000.00	0.01000	0.04		
PORTABI SIGN	LE VARIABLE MESS	AGE U						
0020	159108M	2.000	250.00000	500.00	12,500.00000	25,000.00		
_	CONTROL TRUCK V D CRASH CUSHION	-						
0021	159138M	7.000	1,000.00000	7,000.00	0.01000	0.07		
HMA PAT	CH	Т						



Page 4 of 15

Contract ID: 23139 Counties: SALEM

Letting Date: September 19, 2023 District(s): S1

Call Order: 139 **Project(s):** 0040320

Contract Time: 11/18/24 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) SOUTH STATE, INC.		(2) EARLE ASPHALT COMPANY			
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 ROADWAY		ROADWAY	Cat Alt Set:		Set:	Cat Alt Member:		
0022	159141M	50.000	125.00000	6,250.00	150.00000	7,500.00		
TRAFFIC	C DIRECTOR, FLAGG	SER HOUR						
0023	159262M	2.000	1,000.00000	2,000.00	2,000.00000	4,000.00		
	RUCTION IDENTIFICA JA 8' X 5'	ATION U						
0024	159300M	193,100.000	0.10000	19,310.00	0.20000	38,620.00		
TRAFFIC	C STRIPES, LATEX, 4	" LF						
0025	159302M	9,200.000	0.10000	920.00	0.30000	2,760.00		
TRAFFIC	C STRIPES, LATEX, 8	s" LF						
0026	159312M	760.000	0.10000	76.00	0.50000	380.00		
TRAFFIC	C MARKINGS LINES, 8"	LF						



Page 5 of 15

Contract ID: 23139 Counties: SALEM

Letting Date: September 19, 2023 District(s): S1

Call Order: 139 **Project(s):** 0040320

Contract Time: 11/18/24 COMPLETION DATE Min: Max:

	lo / Item ID Description		(1) SOUTH STATE, INC.		(2) EARLE ASPHALT COMPANY			
Alt Se	Alt Set / Alt Member Quantity and Units		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 ROADWAY		ROADWAY		Cat Alt	Set:	Cat A	It Member:	
0027	160004M	1.000	3,400.00000	3,400.00	3,400.00000	3,400.00		
FUEL PF	RICE ADJUSTMENT	DOLL						
0028	160007M	1.000	12,500.00000	12,500.00	12,500.00000	12,500.00		
ASPHAL	T PRICE ADJUSTME	NT DOLL						
0029	161003P	(1)	1.00000	1.00	15,000.00000	15,000.00		
FINAL C	LEANUP	LS						
0030	201003P	(1)	890,000.00000	890,000.00	40,000.00000	40,000.00		
CLEARIN	NG SITE	LS						
0031	401009P	7,941.000	25.00000	198,525.00	7.75000	61,542.75		
HMA MIL	LING, 3" OR LESS	SY						
0032	401017P	16,551.000	0.01000	165.51	0.05000	827.55		
MICRO-I	MILLING	SY						



Page 6 of 15

Contract ID: 23139 Counties: SALEM

Letting Date: September 19, 2023 District(s): S1

Call Order: 139 **Project(s):** 0040320

Contract Time: 11/18/24 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) SOUTH STATE, INC.		(2) EARLE ASPHALT COMPANY			
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0001	ROADWAY		Cat Alt	Set:	Cat A	It Member:	
0033	401021M	200.000	1.00000	200.00	35.00000	7,000.00		
HOT MIX REPAIR	ASPHALT PAVEMEI	NT SY						
0034	401030M	30,860.000	0.01000	308.60	0.01000	308.60		
TACK CC	DAT	GAL						
0035	401049M	803.000	150.00000	120,450.00	140.80000	113,062.40		
-	ASPHALT 9.5 M E E COURSE	Т						
0036	401054M	345.000	150.00000	51,750.00	140.80000	48,576.00		
_	ASPHALT 12.5 M 64 E COURSE	Т						
0037	401108M	10.000	25.00000	250.00	85.00000	850.00		
CORE SA	AMPLES, HOT MIX	U						



Page 7 of 15

Contract ID: 23139 Counties: SALEM

Letting Date: September 19, 2023 District(s): S1

Call Order: 139 **Project(s):** 0040320

Contract Time: 11/18/24 COMPLETION DATE Min: Max:

	o / Item ID escription		(1) SOUTH STATE, INC.		(2) EARLE ASPHALT COMPANY			
Alt Set	Alt Set / Alt Member Quantity and Units		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 ROADWAY		ROADWAY		Cat Alt	Set:	Cat A	It Member:	
0038	403003M	9,603.000	70.00000	672,210.00	181.10000	1,739,103.30		
ULTRA-TI	HIN FRICTION COUR	RSE T						
0039	403005M	51,430.000	2.00000	102,860.00	5.90000	303,437.00		
POLYMER	R MODIFIED TACK C	OAT GAL						
0040	421007M	59,870.000	1.65000	98,785.50	5.25000	314,317.50		
MICROPA	VING JOINTS	LF						
0044	602213M	1.000	500.00000	500.00	550.00000	550.00		
CURB PIE	CE	U						
0046	610003M	96,550.000	0.35000	33,792.50	0.50000	48,275.00		
TRAFFIC	STRIPES, 4"	LF						
0047	610007M	4,600.000	0.60000	2,760.00	0.85000	3,910.00		
TRAFFIC	STRIPES, 8"	LF						



Page 8 of 15

Contract ID: 23139 Counties: SALEM

Letting Date: September 19, 2023 District(s): S1

Call Order: 139 **Project(s):** 0040320

Contract Time: 11/18/24 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) SOUTH STATE, INC.		(2) EARLE ASPHALT COMPANY			
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0001	ROADWAY		Cat Alt	t Set:	Cat A	It Member:	
0048	610012M	680.000	30.00000	20,400.00	31.50000	21,420.00		
RPM, MC LENS	ONO-DIRECTIONAL,	WHITE U						
0049	610014M	380.000	1.75000	665.00	0.85000	323.00		
TRAFFIC	MARKING LINES, 8	" LF						
0050	610017M	2,865.000	5.10000	14,611.50	2.45000	7,019.25		
TRAFFIC	MARKING LINES, 2	4" LF						
0051	610018M	550.000	30.00000	16,500.00	31.50000	17,325.00		
RPM, MC AMBER L	NO-DIRECTIONAL, LENS	U						
0052	610021M	6.000	30.00000	180.00	31.50000	189.00		
RPM, BI-I LENS	DIRECTIONAL, AMB	ER U						



Page 9 of 15

Contract ID: 23139 Counties: SALEM

Letting Date: September 19, 2023 District(s): S1

Call Order: 139 **Project(s):** 0040320

Contract Time: 11/18/24 COMPLETION DATE Min: Max:

	Line No / Item ID Item Description		(1) SOUTH STATE, INC.		(2) EARLE COMF			
Alt Set /	Alt Member Qu	antity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	I : 0001	ROADWAY		Cat Alt	t Set:	Cat A	It Member:	
0053	610024M	1,359.000	0.01000	13.59	11.60000	15,764.40		
REMOVAL	OF RPM	U						
0054	610033M	59,870.000	0.10000	5,987.00	0.80000	47,896.00		
RUMBLE S	STRIP	LF						
0055	610036M	104,400.000	0.10000	10,440.00	0.65000	67,860.00		
REMOVAL	OF TRAFFIC STRIPES	S LF						
0056	610039M	985.000	5.00000	4,925.00	2.45000	2,413.25		
REMOVAL	OF TRAFFIC MARKIN	GS SF						
0057	610060M	1,050.000	4.00000	4,200.00	7.35000	7,717.50		
TRAFFIC I	MARKINGS SYMBOLS	SF						
0058	612003P	150.000	40.00000	6,000.00	42.50000	6,375.00		
REGULAT SIGN	ORY AND WARNING	SF						



Page 10 of 15

Contract ID: 23139 Counties: SALEM

Letting Date: September 19, 2023 District(s): S1

Call Order: 139 **Project(s):** 0040320

Contract Time: 11/18/24 COMPLETION DATE Min: Max:

Contract Description: Route 40 NJ Turnpike to E Quillytown Road

Line No / Item ID Item Description		(1) SOUTH	STATE, INC.	(2) EARLE ASPHALT COMPANY			
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount

SECTION: 0001 ROADWAY Cat Alt Set: Cat Alt Member:

0059	704189M	4.000	80,000.00000	320,000.00	32,000.00000	128,000.00
WIM ROA	ADWAY DEVICES 1 LANES	U				

Section Totals: \$2,950,116.73 \$3,393,844.63



Page 11 of 15

Contract ID: 23139 Counties: SALEM

Letting Date: September 19, 2023 **District(s):** S1

Call Order: 139 **Project(s):** 0040320

Contract Time: 11/18/24 COMPLETION DATE Min: Max:

Contract Description: Route 40 NJ Turnpike to E Quillytown Road

Contract Description.							
Line No / Item ID Item Description		(1) SOUTH STATE, INC.		(2) EARLE ASPHALT COMPANY			
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0002	CONSTRUCTION	ON ENGINEERING	G Cat Alt	Set:	Cat A	It Member:	
0006 155015M	1.000	50,000.00000	50,000.00	27,000.00000	27,000.00		
FIELD OFFICE TYPE E SET U	P U						
0007 155033M	11.000	3,000.00000	33,000.00	3,500.00000	38,500.00		
FIELD OFFICE TYPE E MAINTENANCE	МО						

Section Totals: \$83,000.00 \$65,500.00



Page 12 of 15

Contract ID: 23139 Counties: SALEM

Letting Date: September 19, 2023 District(s): S1

Call Order: 139 **Project(s):** 0040320

Contract Time: 11/18/24 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(1) SOUTH STATE, INC.		(2) EARLE ASPHALT COMPANY			
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0003	(NON-PARTIC	IPATING (ROADWA	AY Cat Alt	Set:	Cat A	It Member:	
0002 152015P	1.000	100.00000	100.00	1.00000	1.00		
POLLUTION LIABILITY	/ INSURANCE DOLL						
0041 601670M	500.000	10.00000	5,000.00	16.00000	8,000.00		
CLEANING EXISTING 24" DIAMETER	PIPE, 12" TO LF						
0042 601672M	250.000	20.00000	5,000.00	50.00000	12,500.00		
CLEANING EXISTING 24" TO 48" DIAMETER							
0043 601674M	350.000	30.00000	10,500.00	155.00000	54,250.00		
CLEANING EXISTING 48" TO 72" DIAMETER							
0045 602216M	25.000	300.00000	7,500.00	340.00000	8,500.00		
CLEANING DRAINAGE STRUCTURE	U						



Page 13 of 15

Contract ID: 23139 Counties: SALEM

Letting Date: September 19, 2023 District(s): S1

Call Order: 139 **Project(s):** 0040320

Contract Time: 11/18/24 COMPLETION DATE Min: Max:

Contract Description: Route 40 NJ Turnpike to E Quillytown Road

Line No / Item ID Item Description		(1) SOUTH STATE, INC.		(2) EARLE ASPHALT COMPANY				
	Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount

Section Totals: \$28,100.00 \$83,251.00



Page 14 of 15

Contract ID: 23139 Counties: SALEM

Letting Date: September 19, 2023 District(s): S1

Call Order: 139 **Project(s):** 0040320

Contract Time: 11/18/24 COMPLETION DATE Min: Max:

Contract Description: Route 40 NJ Turnpike to E Quillytown Road

Communication Description	Total Pool Phone Total Paris to E damy to mirrord						
Line No / Item ID Item Description		(1) SOUTH STATE, INC.		(2) EARLE ASPHALT COMPANY			
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0004	EROSION CON	NTROL	Cat Alt	t Set:	Cat A	It Member:	
0010 158030M	40.000	100.00000	4,000.00	125.00000	5,000.00		
INLET FILTER TYPE 2, 2' X 4'	U						
0011 158075M	2.000	250.00000	500.00	900.00000	1,800.00		
OIL ONLY EMERGENCY SPIL TYPE 2	L KIT, U						
0012 158084M	5.000	0.01000	0.05	1.00000	5.00		
EROSION CONTROL SEDIME REMOVAL	NT CY						

Section Totals: \$4,500.05 \$6,805.00



Page 15 of 15

Contract ID: 23139 Counties: SALEM

Letting Date: September 19, 2023 District(s): S1

Call Order: 139 **Project(s):** 0040320

Contract Time: 11/18/24 COMPLETION DATE Min: Max:

Contract Description: Route 40 NJ Turnpike to E Quillytown Road

Line No / Item ID Item Description		(1) SOUTH STATE, INC. (2) EARLE COM					
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0005 GENERAL LAN		NDSCAPE Cat Alt Set:		Cat Alt Member:			
0060 805003M	850.000	5.00000	4,250.00	2.25000	1,912.50		
TURF REPAIR STRIP	LF						
Section Totals:			\$4,250.00		\$1,912.50		
Contract Totals			\$3,069,966.78		\$3,551,313.13		
Cost Plus Time Totals			\$3,069,966.78		\$3,551,313.13		

() indicates item is bid as Lump Sum

Page:



Vendor Ranking

Call Order: 139 Contract ID: 23139 Counties: SALEM

Letting Date: September 19, 2023 10:00 AM District(s): S1

Contract Time: 11/18/24 COMPLETION DATE

Contract Description: Route 40 NJ Turnpike to E Quillytown Road Project(s): 0040320

Rank	Vendor Name	Total Bid	Percent Of Low Bid
1	SOUTH STATE, INC.	\$3,069,966.78	100.00%
2	EARLE ASPHALT COMPANY	\$3,551,313.13	115.68%

THE ABOVE IS AN EXACT TRANSCRIPT OF THE ORIGINAL BID PROPOSAL, EXCEPT THAT ERRORS, IF ANY, IN EXTENSION AND ADDITIONS HAVE BEEN CORRECTED.